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A 70,807 46,102 65.1

CHASHY [ZMSHUZARKIY & 2F 1,800 1,800 100.0
QeSS 7| A =l # 8,207 7,001 85.3
st Zdet=7hAle A 1,286 1,204 93.6
H| Q2| 2l ZHEkH| X[ A 6,400 5,987 93.5
R 23| A 2 AHH = ed i M 250 250 100.0
SRR ol RV P R 250 212 84.8
O| 5 =2l 2 Chaf| Ll ALX| 656 656 100.0
el SAtetd =R A 2,075 1,800 86.7
HAN e S?IE 10,700 8,314 7.7
MolE 2% 1,370 1,170 85.4
MEE ARl 2 8,840 7,223 81.7
Motz22S M A =HODA) 3,396 3,246 95.6
AY Y R[S e | = (H 2= 4,500 3,840 85.3
Mitare| Mz ela by 2,000 1,180 59.0
SN erHt A 252 50 20 40.0
Tl 2 19,027 2,199 11.6




